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NMMS - 2016
Time : : Marks
Part:1 =90 Minutes Date:06-11-2016 : Part:1 =90
Part: II =90 Minutes Time: 11.00 To 2.00 . Part: 11 =90
SEATNO: |21 Q2|1 9| 6[2
INSTRUCTION FOR STUDETNS

Please read the following instruction carefully, and then answer the question on OMR
answer sheet.

1. This paper contains in TWO PARTS. Part-1 Q 1 to 50 for MAT, Part-11Q 1 to 50 SAT (Math’s,
Science and Social Science). Each question carries one mark.

2. All questions are compulsory.
The blank page are given in this question booklet for rough work.

4. The OMR contains both the two parts, mark the answer at the appropriate and correct place

as mentioned in the OMR.
You must have to submit the OMR Sheet to the invigilator on completion the examination.

6. Gujarati version of the question paper will be considered as final in case of any controversy

arising out of variation in translated version,
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Qeudt-1 Wiy MMl 512
PART - | MENTAL ABILITY TEST

o ol w1 o 10 waln USSR A5 Assu Reumtouez uis Aellui olscaui 2 B, dui

W5 s WD, B () Ul HEL. YRA D ey UR @seduiadl siududl vis N,

* In the following question, No 1 to 10 are arranged in a series with some principles of
understanding it. One term in the series is missing as shown by___ . This term is giver. as one of
the alternatives almost the four numbers given below it. Find this term and show your answer

against the question number on the answer sheet.

1. 1,9,2549, 2 121.
(A) 64 (B) 81 (Q)91 (D) 100
2. 4,7,12,19,28, 7

(A) 30 (B)27 (C) 39 (D) 29

W

2,5,9, 2,20,27
(A) 14 (B) 16 (C) 18 (D) 24
4. 10,18,28,40,54,70, 2

(A) 85 (B) 86 (C) 87 (D) 88

5. 1,4,10,22 46, 2

(A) 64 (B) 86 (C) 94 (D) 122
R O

(A) 55 (B) © 5 (D) =
7. 1,2,6,24,120, 2

(A) 720 (B) 600 (C) 480 (D) 360
8. 1,9,2549,81,_2

(A) 100 (B) 112 (C) 121 (D) 144
9. 48,24,96,48,192, 7

(A) 76 (B) 90 (C) 96 (D) 98
10. 3,7,15,2,63,127

(A) 30 (B) 31 (C) 47 (D) 52
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RS T s -

zett RGN R 7
ingles in given figure.

11 A0 2us@xi sct 3

Find the total number of trid

mn (A8 (B 10 (€)12 (D)14
N

12, QA 2s@u 32ctt 3 W8l RUA 87
Find the total number of line segments in the given figure.

(A)5 (B)15 (€)20 (D)30

13, (Al Wil 3ect AR WA D ?
Find the total number of squares in the following figure.

: : (A)8 (B)12 (C)15 (D)18

14 et AWSEAN ALAL FA {RAR oy UGSl Avau W,
How many parallelograms are there in the given figure.

(A)20 (B)24 (C)28 (D)30

15, et wisQni ALl $EH AR vl Q.
Find the total number of rectangles in the given figure.

: _ (A)8 (B)17 (C)18 (D)20
=]

16, wQet wiglAMi ULl 6 s12513Lell dvau k.
Find the total number of right angled in the given figure.

(A)4 (B)6 (C)10 (D)8

NMMS

17wt wusfand et
Find the total number of |

N
N

18, wat aalit 22 el allell 5t dvan SN,

Find the total number otved tangles inthe given hgave,

(AY16 ()12 (8 ()4

(A)10 (B)9 (8 (Y7

19wl wugl el ARG ot v .

Find the total mumber ottt fangles i the piven figae.

(A)12 (B)13 ()14 ()15 _

W2l AAelL v .

20, et sl
o of tetangles in the given figure.

Find the total numh

(M) 18 (B)20 (€)28 (D)34
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abets on the basis of th,
e

r 29. Whatis number equal t0"A “
o (A) 4826 (E)
o 30. - - Al ? -
. ; (©)0GD (D) DOG 32U U AU B2 o
. (#y8oiz (524 (© w62 e
22 ¥ 30, Whatis number equal to "M RAS” —
PG (©) PGN (D) GPN (hygaz (mys24 ek i
23 SOFF ) o) i B s iR B magHe g W B A
= = oy s 2l 35 we gl il B Ay g S RGN FE T )
4} DPFS (B) DSPF (C) DSFP (D) DEPS o Inquestion 0261030, ;uur figures are given. One figure differs than the rest, and then finds it
24. COME o
(4) EMOC (B) EOMC (C) CEMO (D) CEOM
] 25. PICTURE 31, O G
(A) CPITUR CEIB (© g
4) CPITURE (B) CEIPETU (C) CEIPRUT (D) CEIRPTU 0] (8) :
"N
o U ez AL ) i AL g sisup e iR wo Riseusdl waie Wi, 7
U4, 226, U6 H4=7 ' ‘ ‘ ““-:—_-:
* I question Yo 26 10 30, wang following number for alphabets, find the correct answer from % r'ﬁ' l —
alternatives, = (D)
) ®) e
A=4 H=6 M=¥ 52 {
26 CMMIAT AT AT L) 7
13,
(4) 24 () 62844 (C) 6142 (D) 6248 @ @ @ @
20, MM Kequals. T |
- (# - )
(h)bizh () 6234 (C) 642 (D) 6248 @ ) W ?
27 o 9 WUah? breal 1
- 3,
(A) 674 (1) 14042 () 4264 () 6246 >'<
27 MG A W eualy "
(A) 624 (1) 84647 (C) 4264 (D) 02406 (C)
W g s s a1
45
(4] 26844 (1) 2641 1) M6 (1) 20406 ' l \ - A //
—
0 Wit ba thie tnmber ool (0% M 1EA" ()
(6)
(A) /0014 (1) 2648t () 264 (1) 21146 ) =
P g s ety hael
p (IO
(A) Al (1) 4t/ () At (h) A6zt s

page 6ol 1]

1IN
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el e N : 3
1 question No 36 to 40, find the i ect alternagyye, in cod sl * U elarllsoydlad sy cudlen el 2
0 e f 4 g
Ing language. * Inquestion No.41 to 50 which one
hone

30 APRIL Q %i3@s SN 12345 ¢
<345 (wy :

ARUEN Q 3@ o s A uNg ] @, AL 6789w AL 1 '
‘ SO e, A @A) wdaas (B) elldot
(B) 1379g (€) 13987 j

ey o

A (C) tiseus
73
(D) 19873 41, (A) MAHESHBHAL (B) DEVIBAHEN (C) SHANKARBHAI (D) SHIVABHAI
42. {
36. Ifcode for APRIL 15 12345 and code for JUNE is 6789 th i o
o i €]

©ud (D) Qtstrien
" What s the code for ARUEN 7

(A) 89731 (B) 13798 (€) 13987 (D) 19873 , o mem— g o o

) ! 43 (A)umelce (B)egu
37,

7 FORTYA 12345 UA NEAR QA 6983

(A) 5983

(©)¥de )Rl

@ Q yEaR s 2w 3 : 43.  (A) AHMEDABAD (B) BHARUCH (C) RAJKOT (D) DELHI

B) 5938 : ;
® (C) 5893 (D) 5839 3 4“4 (4)Adda (®) 54l ©B% (0) 20t 2R
37.

" : 44,  (A) VALLEY BALL (B) KABAD!
If FORTY is written as 12345 and NEAR is written as 6983, then how is written YEAR?

(C) CRICKET (D) TABLE TENIS
(A) 5983

45 )R (8) G [GRETE ORET
(B) 5938 (C) 5893 (D) 5839
AR 45.  (A)WINTER (B) SUMMER (C) JANUARY
38.
KRISHNA = 5748361, RADHA = 71231

’_ LS PRI s W I TR
! ' ¢ SR e eleoed WS Wi v o) N (e 7

i

s

f

(D) MONSOON

46. .
) 82, A KANSHAQ 9 ctwiat ? @) St (B)ud © Qe () sidr
7483615 B) 517
(@ sa7asss 3 hney ARy 46.  (A) DIESEL (B) WHEAT (C) RICE (D) PADDY
47, (ayaa (B) 2t T (C) U . (M3
38 If KRISHNA = 5748361 and RADHA=71231 then KANSHA ? > :
i teges () asta ) Sinaees (D) 516831 47.  (A)GRAPE (B) POTATO (C) APPLE (D) BANANA
{ 48, (A) oo WEL ByaausgR wedll  ()alidly (D) Hotlget¥Rle
39,
*  SIXTEEN=7654332 & Al NINETEEN= ?
3 D) W WG
(A) 26237654 (B) 26237645 (C) 26234332 (D) 26234323 ; 9. @wan (8) fax (© YRR (D) Qe AG
49,  (A)SCHOOL (B) COLLEGE (C) UNIVERSITY (D) POST-OFFICE
39. If SIXTEEN=7654332, then NINETEEN= ? » 0. (a)@e ) ©oua s
(A) 26237654 (B) 26237645 (C) 26234332 (D) 26234323
50.  (A)LION (B) BUFFALO (c) cow (D) GOAT
40. o) RAMESH=942876 &2, Al MAHESH= ? >
(A) 246876 (B) 246829 (C) 246892 (D) 248692 ‘
40.  IFRAMESH = 942876,then MAHESH= ?
4) 246876 (B) 246829 (€) 246892 (D) 248692
[ - Page9o0f32
NMMS

Page 8 of 32
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oA =0 HLE SHl sy A s AsRQauell D Al

¢ In question No.51 to 55, figure is given ip |
e

EURl R Wi wulen @sedHizl QA

Vk ¢
;_ against it.
3

i

ft. Findg - g
Find jig Mirror image

from the

options given

Nlﬂiﬂ_
BN NS @
IR CIRR I YT

In question No.56 to 60, cons
blank from options given against these.

56 Qda: st sAsglAA:

U of, i .
56 &ll 60 i yuM Q WA Wssy Roltd rautotii vl wiedl aout yal.

idering relationship between first two words, fill in the

(4) &5 (B) dae dug (C) ANt (D) AA@et
56. Petrol:Car:: Electricity:
(A) TRUCK (B) BULLOCK-CART  (C) TELEVISION (D) AEROPLANE
57. 5:10::25:____
(A) 50 (B) 250 (€) 100 (D) 1000
57. 5:10:: 25:
C) 100 (D) 1000
(A) 50 (B) 250 <)
Page 10 of 32

58.

58.

59,

60.

60.

o ysiolol d 65 ol @scuiel 50 @scu s A Do su e7ld O,

Farmer; Grain

et Ao yaidl:

\u«,

SOW:_

(AYMILK  (B) HERBIVORES (€) DOMESTIC ANIMAL

(A Bl (B) e (e
Mass: Kilograms Liquid:_____

(A) KILOMETER (B) METER (C)LITRE
Qo HleR/Ases Wt

(A) Hler (8) (Beann (BIRER
Velocity: Meter/second:: Distance:

(A) ME (B) KILLOGRAM (C) LITTRE

* Inquestion No.61 to 65, find the logical order from the given.

(1) WILD ANIMAL

(0 3xblle?

(D) DECIMETER

(1) scdis

(D) HOUR

61 (a)au (b) HMQL (c) §uU (d) €8l

(A)a.d bc (B)a,cdb (C)a.cb,d (D)c,b,d.a
61. (a) Cow (b)Butter (c)Milk (d)Curd

(A)a,d,b, ¢ (B)a,c.d b (Cya.c.b,d (D)c.b.d,2
62, (a)Qenall (b) ol () uflen (d) Azl

(A)b,c,a,d (B)a.d.c.b (Qa.c,b.d (D)a.c.d,b
62.  (a) Student (b)Degree (c¢) Examination (d)job

(A)b,ca,d (B)a,d.c.b (C)a,c,b.d (D)a.c.d.b
63 (a)ausa (b) HOUAR (¢) U (d) 5

(A)b,c,a d - (B)a.b,c.d (C)b.d.c.a (D)a.d.cb
63.  (a)Sentence (b) Alphabets (c) Words (d) Paragraph

(A)b.ca,d (B)ab,c.d (©@b.dca2 @)a.d.cb

Page 1108 32
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Ty . Al

A o (Hiaboed (Orad bhoe (Maahd
et () touse (RIS (OBricks hwall

(b ada wrabed W ad e (Maabd
o8 () Qg Yt () 0l war Rad (©) AR () Rya

Alabhad b eda (©) e bada Mebaa
of (@) Blectriv Train (B) Thermal Power Station (€)Coal (Rectiioy

(Nahad (Mheda ahda Mebyad
o Q3 Q003 ™

)1t (8) 1o 1) 1 () e
oo, Q320003 = ___

(BN ) w ) e (D) 1o

s Wy wa QA wielvd Qs 3.
(RS T)..16=2

RIS (B) & ) /e ) &+
o7, Fll in the blanks such that equation becomes true,
(&5 7L __te=2
(A)+, ¢ (B x (A RN
o RxS=18x10QN A MaN=___?
{A) 15x 10 (B) 17818 (C) 13 x 14 M1 x2S

8 x 19 then Mx N = oy
(B)17~ 18

ol IFRx 8=

1
< 18
(A) 15x 16 () 14~

(©) 13 x 14

69, a3g33soEiossiosisd Ml 33N Rl ava WA B2
- ) I
@+ ®3 ©s i
A rairin 234335233253393344 7
6% How many times does 33-pairin 234335233253393344 -
+ (B3 ©s @32

Fazs 1202

-

T

7L

4
s

i
2.

-3

FAN

Th

75,

WAL WA 10  NAD. R
A wsell Gz el

(A) 20 a () 10 O 15 ad

Bhaveshis 10-years older than Ashok. 1 sum of the ages of both is 30
then what is the age of Ashok ?
(A) 20-Years (B) 10-Years

yRoars,

(©) 15-Years D) S-Yaans
Al st weflet Ral ek Qe QA0 A 1A kR &Q
(A) MR 1B guar (©) VR R

1t day after tomortow will be Thursday, then what was the day on yestenday 2

(A) Tuesday (8) Wednesday (0) Monday ) Sunday
"
AL et e R0
A WEN (€) et ) Qe
i
Whase tather's son are you
(A) Brother \B) Uncle (€) Mother (D) Father
\ 2 . N |
APPEPPQQCEPDQPQde WL PRALs daclaiat WA D 2
a2 w1 W3 4
How many times does PR paie cone v APPRPEQQCIPDANN ?
2 (LR Q3 (M
X152 10: 50 A = o
(1 ®mw DR NEY
xS = 1030 theax=
$ R Ry

Y ®w

Shg AWS WA 5000 MR A [ Y2

(© 4R e (O el [ vl

() Qs (BN
b i< heavier, § Kgiron o SO0 gramowteat some GEes
Which is heavier, 5 kg »,Z e {€) Bogh ave aqut (D) None of these
{A) lren "
Page 13l
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76, 2.5 sausell secll RRe a2

(A) 90 ARz (B) 120 R@Re2

©) 130 AR

76.  How many minutes of 2.5 hours 7

(A) 90 Minutes (B) 120 Minutes (€) 130 Minut
nutes

77 adael WBy ucito] YA 54 7

(A)mr?
: (©) 2nr (€) 27r?

77. Whatis the formula to find the circumference of circle ?

(&) 2 (B) 2nr (©) 2nr?
78. i
AAot Baniall s 2at el widal a2l 2
(A) sllcist (B) duwa —  (Q)widxRa
78.  Which of the following countries is not neighbor country of India ?
(A) Shri Lanka (B) Nepal (C) Bangladesh

79 o Rettiell s . cuglott AR U W D 7

(A ¥l (8) M ©%et
79, Which month differs from the rest of three ?
(A) February {B) March (C) June

80, Y@K WA Grk Rl a2 56 Rau (wQ) a2

(A) ezl (NW) (B) 82llel (NE) (€) A (SW)

Which direction or angle lies between west and north directions ?

(D) 150 A2

(D) 150 Minutes

(D) nr

(D) nr

(D) URRsL

(D) America

(D) ARt

(D) April

(D) WA (SE)

(D) South-East

80.
(A) North-West (B) North-East (C) South-West
S Qs o cugend Qs wslA WAt 10 ¥sid (Rog House) A ecl
AR atel (s21) a? -
A\ 1w ®°9 (€1
ore | saw houses adjoining each otherinaline
1. How many common walls ;_u‘c‘th- re in the 10 raw o1t D)8
(A) 10 B9
Page 140f32
NAIMS
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ould cut a 20 meter long bamboo pole to make four equal
(B)5 ©3

83 4+ A E@ - ol x A we +Ac (20x5) +3 of WEIU hoc] WA 2
A1 (8)2 (©)103 (D)97

83.  Taking-instead of +,+ instead of x, what s the value of (20 x 5) + 3 after simplified ?
A1 ®)2 ' (€)103 ()97

AR Ut st o84 2l 0 UL +Q GER x, x A UER 4, + A UEA - A - A e + Al WA,
A el Qetlo] AEIU UL  ¥elot WA A udet Asedoizd N
In question No.84 to 90, if x in instead of +, + instead of x, - instead of +, + instead of -, are

taken then after simplification, what is the value of fol\owingil

84, 15-(40x8)+3

(18 (®)17 ©23 ®)20
85. 20+ (4+5)-4
(A) 44 (8)36 ©4 ()20
86. (8x4)+3-4+5
(GYE I (8)5 ©3 6
! 87. 27x3-(6+5)%9
4 @10 (8)20 (€)30 (D) 40
X
! 88. 18x9-(8+4)+20
()14 (8)16 ©20 0)30
89, (5-2)+(9x3)+2
A)23 ®)25 ©19 18
90, 2+3-6x2+4
A)13 ®)5 ©10 )11

Page1Sol32




", T — B e R —
- TR . N A— D . SE———

\ SN2 PARY -
St b AN S SUHOLAN T A

VALLE PN
AR Mat

.

SO N e .

. N

2 ) -2 B e
,,,5 RRY
1 VO N R N Y e
A - 2 a0
R e o
\ AL AL A (W XY
>
S P B O $ .8
2 R R RN S R DD
\
ANQ»
s B A%
s I/ > .r./a 7r;11- o
W3 M Ak
i RN
i N .
- AN B e 5 IOTENR & o 3
| & 0T PR SRy e Blowing
e (B @ e 3
3 - (AN RY R
K % & N
R EN o, N > D D ~ :
w s SN & > AN R -
C QIR AR RAE NQ e 2 AR MW 2
DI+ {22
SO A3 .
b e MW
X T sarm 2 Dot of 10% 22 what prvce should N .
g 2 what prve shoukd 2 product costing Ra400 besald ?
AR+ IR RN “w =
< < R RIN QIR (M R
4 Q adz g 2R el DR X AR WAARA R Ws WA N : "
AT AR Al AR AT Ng AP R N A Ve g WU MOKR
III 3 » S YMY - T
TR AR 1T RN A
Q12 e () 200 e
+ Sor the teo paralal Bnes and their transversal i the maasu of one of the angle of
corresponding pair is 1107, then Snd the moasure of other angle of this pain
s e o sty
(A 120° ® 7o © 200 (D)
= > D = by A cmcond SN
o 2 — x+ 14 |WR Tr— I F TSRS EE0N
A3 +6&x+6 B —&x +6 Q3 +&x -0 D -ax—¢
- & L efam I —x 1
s uﬂuﬂmnnu,nlwu»‘_,vu»,fuuu. x+14 i
- e e Exr i+ 6 C)3x- +&x—86 D3y —-ax—¢
{a)3r- +&x+8 (B)3xr —&x~° = a ®)

W

W = O R e v ot (30t » )+
ot (W)=l AT INERH

\ J0N) o ade o EY AOUNY WAy W

IRV RSN R () 2 1080

20 i (e Rterest of Ry o000 at the tate of adg far Tomanihs.
L) Ruaow AR R [ SEIN () Ry

R D N @ @INeY
[E\RS B ad W) e e

& Padthevalhwat (%= 33N
E\RN () od W) e RSN

A Ry R T= =38
e (GIBY -2 (M =18

Solve the squationt? = 2y = 3§
e [GIRN - (M) =18

W e e 30 300 cdaro 3R uRaw A 10 Aol Qs wanl %&&é%%w.

Q3 WS R daen Qe wl ag s ?

(23000 QR D ELREN (©) 30000 AR ma3RR

10, The seawater gets fllad vp in the salt pan J0m long, 10 Wwide and 100m deep. How many tvers
of saa water is fllad in this saltpan T
(A) 30000ters (B) 3N livers () 30000 tivers (D) 30 liters

1L 7000 R el el 88 W Al A ydu ad

Q)9 ™1 @
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./

— AL,

( 14
A) 9 (B) ©21

3 ©5
wl\ 3 3 2
) ———
(A) =n (B) ©L
1% F e 2 w e -1
Eud AL A;H\..v‘ x(2) ymv
A1 ®)3 7o
13, Maqmunnmummhwuw s mku < {2
(a1 (B)3 ©s
% u={Zfx<9) a=125. 8z Q raq
(4){1.23455785} (B) ﬁ 46,789} (© 11226725
14

Hmwnw .HA@W a = {1,2,5},then fndA’

1. Find the smallest number by which 7000 must be divided to obtain a perfect cube ?

D7
1

M-z

O -5

12

03

(D)3

(D) {15.67.85}

(A){1.23.45.67585} (B){146738 (C) {1.2.4.6.7.85} (D) (156725}
15. (4ab — WNUvn
{A) 16a”b% — 24abxy — 5x°y° (B)162°5° + 24abxy — 92557
(C)16278% — 24abxy+ 97y {D)162757 + Z4abxy + 90°¥7
15, (425 -3m) = .
(A) 162°5° — 24abxy — oxty~ (8)185°5° — 24abzy — 5T ¥
, 22 g25? + 24abry + 9°F°
(C) 16575 —24abxy = 5T 5 (D) 162757 = ¥ 5
D meF =meG B2 A msF =
&  _DEFG 36 meD = 120U mLF = 120°B. A mLE z
(Qiz (D) 58¢

16 InoDEFG M meD
(A) 60 ;
- Ws dmusizel euy 203030, D. A Al Qe By Becll ¥8A A ouse] unse ke
WA 2 (m=3.14 A
(A)314 94 Jall @®)34sut 0l (gasoua 0. (p)s2s0 ust all
17. The diameter of a cylinder is 20cm. If its height is equal to its radius, then find its vciume.
(==3.12 &)
(4)314 om? (B) 244 m? {€C)3140 cm? {D) 6280 cm®
18, iy acusa-d se wudld Bxga fuctd =y
(A} =2 © (B)zmr(her) (C) 27t (D} ar?h
18, Toe formalato frd ) surface area of acloszd griinder s
{A) =T (B} 2= (her) (C)2ar2 (D) sr*h
19. D3 unDoes w2 ugele Wy wesd (= 10.(x-10). (x2 25).(x 2508, = X9
.v\.’\nhl.r 3z ;
M -
{a) 182 (8) 90 (G270 (D) 45°
19.  The mezsures of four anges of a quadrlasteral are{r + 10), (x — 100 x — 255 (x + 2552,
ol 102 1m22S g i g5 ol
respectively. Then find vaiue 2z
[4) 180° {1 20r Mn.. 27 (D) 45°
i) 25 =2
20 . nipE 105 Al B8 v B SaerGurddlzazy B
e B4 {C1s o2z
e
oember les e 10 ), Then Snd the total somner
26, HA=@€ ..\Hmmug“rtnu meher less i) T

=% 2
(a8 (Ef R
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\ \‘ RSN
\
\‘\l‘ I\\
A N2
" “ \
W\ \H\ W\ \\“\~\\
2R frve
-~ SRR \ N ‘\ 1)
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sure ac-pressure s called

(B) Barometer (C) Voltmeter
Sk s . ;
W AR weEd s

k\,'\\ LSS\

(O AR

) Maglev

NRUE

(D) Ammeter

- - \ ! -
3) ulds O RR AR (D) uat
Lenergy and Kinetic energy of the object is called energy.
(B) Machanical (C) Potential-Kinetic (D) Heat
Q! Ay 9.
(8) 381 (€318 (D) 1317
IS times than that of Earth.
(B) 381 (€)318 (D) 1317
B RARARY AR A 53D,
B (B) AW ASR (©) Quassiy (D) Roluetsley
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SQRIRY Chemistrey
Svens W il Gl s By

SURSRS dpyey

V0 EEMED S00 PEM

W1 101 ppy g

sreen el o ppy

2000 m

(D) 500 PeM el Gue

J3 AN PPM water is harmtul o drink ?
(AT EPM oS00 Ppn
(CISTPPM w100 ppa

WASMO of Yl ent-

33

() Qe Wes AN aet Ay RENERENTRC
(B) QAR Aes 1t Ay RN Aot ‘
(0) R Ves ANt Ny WEw

(D) QR et NAYRe WA

v
W

Fult form of Wasmo

A) Water y i
(A) Water and sanitation anagement organization
(B) Weltare and schowl hanagement organization
(€) Water and sanitation tanagement ottice
(D) Weltare and school management oftice,

S QA sy i@t ot F

(BY 101 PEN wz0g Py
(D) Above 500 ppa

(A)wis (8) ¢ ©wall, ) Qe
34 Which of the following is not a compound ?
(A) Sugar (B) Common Salt (C) Water (1) Gold
35 wet GEleQH sEcl daU KU D 7
(A) M (B) ottatclet (€) RAQet () A3As
35.  Which is the natural fibers, from given examples ?
(A) Silk (B) Nylon (€) Tyrylene (D) Acrylic
36 Q@ elaRetell GUAN_____
(A) U551, Sle,ee Bl Altal oleitelettHl
() QA Aca, Red dre wdtes W s
© Ygt5le,2e5A0L, olled, UARUWL vlettalelldl
(D) 853, RRY ysiRell & otettacuHt
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36,
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40.

40.

41

41

42,

(&) In preparing domestic things like toys, buckets tub
(B)Used as insulators on electric wites, fllmmtmnﬂ?’i@
() In the preparation of vatn « oats, handbags, hﬂtﬂt'l; ho\-mm
(D) T preparing crockery, ditterent types of trays,

¥ 1CURS A AR A sl sten o 85 Wsett i [REAM WA AR un
WA,

(A) Adeuve (1) N () VARA (D) AUA Bola

Identity the types of plastic which on heating at a high temperature becomes soft
and on cooling does not gain its original state,

(A) Bakelite (B) Melamine {C) Palythene (D) Aan B both
Bt Wt At A e Guada wr yRe s wad d,

(A) 2.0 WLt (1) 20 3uvslet 1€) 25 W Net (1) 30 KWt

TS prohibited to use plasit thinner than______wicron,
(A) 2.0 micron  (B) 20 micvon  (€) 28 icron (1) 30 WAe

WAL AU Bl SR

(A)RAEABC JBUY (1) XANGA  (€) Shlxudt (D)L Q) Asug ol

Type of glass which is used in endoscope,
(A) Optical fiber  (B) Glass wool  (C) Toughen glass (D) None of them

[Qtet R Becs cigelloll ol U siu

(Ayuseda s (B) 6 Azys s (C) AAARS s (D) 2Alet B
Type of glass Is used in the windows of aero planes and some vehicles.
(A) Transparent glass (1) Bulletproof glass () Photochromic glass (D) Colorful glass

QaAYlet 20120 GuAL oloticieil i d.
(A) bQsflsdce WA 522 A (B) 2R A YU (€) Wlllzauell wen (D) AR

Neoprene rubber is used tomake_______

(A) Electric belt and conveyor belt (B) Tyre& tube

(C) Pipes to spray water (D) Telephone
alas, Alet, daguetl 51 e adllad s,
(A) wis, gL, wise] slagt
(€)W, wis, wisef gl

(B ulse] sy wis, Wl
(D) GuRiel A u A%
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42 Classity accordingly s0lven olute, solution,
o, Water, Solution of supa
(4) Sgzar, Wit l’ Il‘,“ 5 Zogar (B) solution of sugar, sugar, water
2) water, sugar, solution of sugp.
g wateenisig gar (D) None of them
ol el s Quatot w3 ogef] 5
A) 8Bt WG 62834 yyegs
() s GRraef] Well eten o B,
(B) 15 AU le2lall RBQR gycg )
(€) WS ANY gt Qs of
() wellaiell w2 '?ﬂ AR R o wee 8. . ol
§ Gotcll Ao 8¢ B ua Holcll U D, 49, Whetl polle 8rains are produced 7
E § (A) Filament (B) sty 2 e : ;
yle (C) Stigma (D
43. W ) Anther
( hich of the following statement is not trye 7 50 ma (Aoll) Jeary asha
A) Adding borax powder in the
(B) The mixture of sol n the hard water it can be made into soft water, WEEA ag (B) weAu 2184l
of &
£ ) solute and solvent is known as solution, (C) MBAAR R Ayl (D) MIBAARRUN 22 AR '
Xygen is not supporter of corpbustlon hence it helps things to burn, 50 TRugEe =
(D) Formation of ICE from Water then the volume increases and the density decreases. o (60 Smamals yptoes
J 44 oy wict2stell clous deell A d . (C) Micobacterium Leprae (D) Micobacterium tuberculosis,
E i 51 56 As e ssQUAsH Al Wr@An W 2d o 2
’ (A) 5 Hle? (B8) 7 {22 (© 1022 )8lez (A) 2R seuR Ut (B) Yact seup wrul
] 44. Whatis the length of small intestine 7 2 ; © W sz wu@d (0) <5 seu? el ;
(A) 5 meter (B) 7 meter () 10 meter - 51. Which one method is not included in hydroponic method ? ;
45 ooy . mete] (A) Water culture method (B) Gravel culture method
A5 gal 5 A HE AAUAER B 7 (C) Semi culture method (D) Sand culture method .-
(A) 2R oto] cgat s (B) stelet stellsause Qéﬂ sl 5 89 Befla ud apaddtsdlsd et wad 7
R2 vl el & (A) As2Rau (B) L ©da (D) cugRY
(©) 302 2l escitoll Bauni D) 2R+{Ad i
0 qﬂ L4y SHRLsRand 52.  Whoare called connecting link between dead and living ones.
45.  For which process platelets are responsible ? (A) Bacteria (B) Fungi (C) Algae (D) Virus
(A) Transport of oxygen (B) Transport of carbon dioxide. 53, i Yaudl ysiae Reig B 52 D 2
(C) Process of blood cloating (D) Protects our body against different diseases
. : 3 : (4) sR@st (B) @ ©44 (0) Aued
46 sAsaclatoll 22uni 3ze s1ssi wAc D 2
T 53.  Who controls the entry of light in the eye ?
(a) 22 )25 (€33 ()30 ’ y () Iris (B) Lens (©)Pupil (D) Retina
i ?
46. How many bones are present in vertebral column ? 54 .02 sl couleiel g@t@é R 56 D 7 -
(A)22 (B) 25 @33 030 # (OEGEES
X . B) RISt (Quaa
47, wRusadl eitzyef Geleel Al h OB ®)
" i i hyte given below.
w2 v\ﬁ 54.  Which one plant is xeropl
(A) 8la (B) uat - (C)eed ®) (A) Lotus (B) Typha (C) Acacia (D) Money plant
47.  Find the example of involuntary muscles. - ] . 55, syl Rausectal wd Guallall viat
(C) Heart 4 (D) Fingers isdl
(A) Hands (B) Legs oy ey ©elast o)
. i 3 viollos auRMLe] clec - : ;
48, sissicll USAR HIE %3 oo 55, The organ in fish to change the directionis____ 1 ok
C) flesr (0) ; (B) Gills () Seales =
(4) 3@ (B) Alectel ( ’ (A) Fins =
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AuRs Qstety Social Science

56wl 12 dl ugt Y Ry HAAL 29t 5 2
(a) Aua (B) o3joflQes © AT
(A) Nepal

57 yedl Wdioll u W

—— U sl
(A) 23.5° U 6,650

(B) 23.5 R 66,50 (€)6:650 ua 2350

57. The earth makes an angleof 1o jes axis and____ toits orbits,
(A) 23.50 UQ 6650 (B) 23.5° wQ g6.50 () 6.65° w 2350
58 adel ML A gz A3 Wdellyye A B,
(A) UnELae (B) ¥3ayeue (C) mesloite
58.  The standard time of India is decided on the basis of 82,50 longitude
which passes through city.
(A) Ahmedabad (B) Aurangabad (C) Allahabad
59 altetiowg g 838 Aowell 58 eté] Uz saqug wA B 7
(A) Acges o€l (B) 11 =1l (C) Halotél
59,

{
Which river is used for the Bhakharanangal multj
(A) The satluj

60, qax
(A) 490 %A 89

purpose project ?
(C) The Mahanadi

A2 Geued wdet D,

(C) 89 ua 490

(B) The kosi
AHARERN UR
(B) 410 A 98

(D) AUl

(D) Japan

—— A YR oA 52 B,

(D) 66.5° A 2350

(D) 66.5° A 2350

(D) otz

(D) Jabalpur

(D) g™ olé]

(D) The Krishna

(D) 98 A 410

60.  Thereare. .sanctuariesand National parks in India.
(A) 490And89 (B) 410And98 (C) 89And490 (D) 98And410
61 nfla Aole s 9 g 8ad ?
(A) DMR (B) S.H. (C)NH. (D) 58 uaL oA
61.  Whatis indicated in milestone of National Highway ?
(A) DMR (B)SH. (C)NH. (D) None of them
62, yeoll GuR sei____ wci20 el .
A (B) Wid ©) uR (D) A
62.  There afe totally____ spheres on the earth. X
(A) Two (B) Five () Four (D) Three
¢ B.
63, yacllofl qwidlell wuad Bl Yell ctcttetRe Ry
)16 km (D) 600 km
(A) 1600 km (B) 160 km ©
I km from the suface of earth.
63. At here extends appr Y. } 600km
’ - 60km (©) 16 km (D)
(A) 1600 km - (B)1
Page 260132
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66,

67.

67.

68.

68,

69

69.

70.

70.

E 71,

71,

68, the rallway transportation fy

Railway (), By, () Bastern Halliny i1
.,'cum,ﬂi 3 ‘a (B) Central Raflway - (€) astern Kailway (D) Western Ratlway I
AR cucuzey e QM MM el o]l wdn i
i A 5ol U2 goygy et di el Quiell __uay B,

AUl B W ' :

(A , (1) 2ict 1)y ) fla ‘
The lava that <ools down inside the vent of extinet volcang turns it Into, S

(A) Mercury (B) Zine (©)Tin-Plating (D) Diamonds i
Bectl 100 il cvago A5l aw ua , ) '
(A) 0.6°Q, (B) 622 (€) 6.5, (D) 798,
Increases in the temserature by ——centigrade in the last 100 years, l
(A) 0.6°C (B) 6 (€) 6.5 (D) 7°C g
ARetuiel sl gz oflot g1Ga CEET l
(4) 8ot stllsug (1) Mo (©) sAAAA s1edet (D) set

Which is not greenhouse fase given below,

(A) Carbon dioxide (B) Methane (C) Chlorofluro carbon (D) Nitrogen

Yotlall 225t 6l €2 Al sl R WA Ray 4y Gyaai wd & 7

oS AR T

(A) 29 W2 (B) 15 #2342 (€) 19 Wz (D) 15 UlsAlu?

As per the resolutior by the UN which day is observed as the ‘Ozone Day’?
(A) 17 September (B) 16 September (€) 17 October (D) 16 October

56 5[ Ao edati g2 28 of ol 7
(A) ettduele (8) AR

() eottal@ (D) Qe lst

Which creation was 10t made by Harsh Vardhan ?
(A) Naganand (B) Harshcharit

illot Beott SlAelumi Beetl B aie g odt ?

(C) Ratnavali (D) Priyadarshika

. o

(8) yatdall ollan ()t (D) eusralst

(A) exatlat

In ancient history of Hind who was the last hinduemperor ?

(A) Harsh Vardhan (B) Pulkeshi Second  (C) Devgupt (D) BhaskarVarman
AN dglott 2atus tdly A vl 7 :
(A) MéME 1ol (B) weult A () §e4elet Auns (D) dcetat

O

; tha lounder of the ‘Slave Dynasty’ b
Who was know as th (B) ShahbuddinDhori  (C) Qut-ud-di -)Mbak (D) Balban
[A) Mol ‘

{Gazani o

NMms
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!7

Qeeasell 8 AR Yooy SCUQ 5\1 2ee A diveq .
Q

A) st 2l B
S [OETCHEY] O Cen@ ) e gl
72. Which Queen of Anhilwad builtq ‘Rani-Ki-vay* for the pup; If:
o ¥ Cwelfare ?
(A) Minal Devi (B) Naikj Devi
i (€) Queen Udaymati ibai
: - aymati D) Queen Laxmiba;
7R wwetsia exReye MR usl@o i o |

A) Rty }
() Rty wa@s (B) $1ua yq © el q (D)}l Weidl
73, During whose reign, the Sahatmlmg lake of Patan was constructed ?
A) Sig iJaisi ‘
Ny 6( l)éllel::'a;]msmh (B) Kumal pay (C) Bhimdey (D) MulrajSelanki
c'a H Al U o AR Welluctef ey g e 23 & 2
(4) B.4.1526
) 2 (B) 8.4, 1530 (©) 81527 (D) 8.2.1556
74. i i
In which year the battle pf Panijpat between Ibrahim lodi and Babar happened ?
e (A) 1526 cE (B)-1530_ CE (€) 1527 CE (D) 1556 CE
5. B
R wtaaltell ey of Aelto] ofl§ Rgyoys sicllol &cll,
(A) QR8-g-21ayy (B) HEUE-B0ot-uog (€) Sl (D) &Box
75.

was the Italian who accepted the chall

lenge to discover the sea route of India,
(A) Vasco-Da-Gama

(B) MohmaLth_Maiid (C) Colurnbus (D) Hawkins
wtelle] yert Aell Aol 2y sy 2

1A) RRts-Ge-Elet wa Halle uclluor (B) AU seusc A Al

(€) ARex-Ge-Elett U Adlont (D) Awé seuse-? sse

76 Beuween whom was the Battle of Plasseyfought ?
(A) Sivaj-Ud-Daulah and Murshid Khan

(B)Robert Clive and Siraj-Ud-Daulah
(C)Siraj-Ud-Daulah and Hawkins (D)Robert Clive and Mir Jafar
77 Ui wslastdl Qg S1QL clteg] 2.

(A) $clG (B) Aot $dlou (€) A§ Adwell (0) QS scusa

77. Who introduced subsidiary Alliance in India ?
(A) Daihousie

(B) Warren Hastings ~ (C) LoardWellesly

78 3esll izt s ol (AR iUt sl ?

(D) Loard Clive

(A) elRle WSl AHA A% 5A (B) Uslas(<l Ayt

ey v (D) AttellAs U AR

i d ie?
ich policy was implemented by Dalhous
o ‘ (B) Subsidiary Allience Policy
(D) None of them

(A) Divide and Rule Policy

(C) Policy of Annexation

Page 28 of 32
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81.

A% ARy
Who passed alaw in 1829 to ban the practice

(4) Wiliam charls () William Bentinek (€) Loard Clive (D) Loard Cornwallis
82 8 Susllel sguct ostHe] WDyl sy 5ded ¢
(5)31 R 1858 (B) 1R 1857 (€)31R 1857 (D) 13 1858

When was planned to begin the revolt across the nation against the East India company ?

(A) 31 May1858 (B) 1 May1857 (C) 31 May1857 (D) 1 May1858
BA1857 otl Aot yan adle A o3 ?

(A) @URls (B) Hole uid (© $:Rs (D) it A
Who became the first martyr of the Revolt of 1857 ? § ™

(A) Bhagat Singh (B) mangalPandey (C) Kunwar Singh (D) Tatya Tope

arRdla sy s uneni wW ?

(A) 1541 Qe 1947 (B) 30 o3l 1948

(C) 26 AR 1949 (0) 26M 220l 1950

When was enforced our Indian constitution ?
(A) 15 August 1947  (B) 30January1948  (C) 26 November 1949 (D) 26 January1950
5 Quet e d 2

(A) CtRctof oltuRe A Qo] Aell 0 AN vituze B,
(B) SL. ABAYULE GIUIQL Aol Bt A} el uel.
(€) S{ruRet Yol Asugt 1B widAx 54l o edl.

(D) vituiRetell wRst AR@et wtatgl Aol R UAE sctt.

Which sentence is wrong ? -

(A) The constitution of India is the longest written constitution in the world.

(B) Dr.Rajendra Prasad was elected as the president of the constituent As_se.mbly. ’
(C) Not a single woman was included in constitution assembly. r | j £
(D) Dr. B. R. ambedkar was the p of drafting o !




i cdlsueiell 2l sy @ -
‘.

e scutl
(A)3as (B)URA AN () §R Ay (D) AN oy®

§5.  LokSabha election are held evely

———

(A) 3years  (B)5 years (C) Every year (D) At any time

B0 Rove Meet 250 weliall gy 3oy Hedlofl (Aues 52 & 7
(A 23836l (8) 12 %02 (¢) 24 wox (D) 160 ¥ozl

a N ¥ ) : i f
86 Outef 250 members of Rajya Sabha how many members are nominated by President 7

(A) 238 members (B) 12 membere (C) 24 members (D) 100 members
87 et HAUUE A9 5o wa D -

(A) QU 2iweiioy o oyuf WA B, (B) YruerAl Aol Houuld o 1,

(©) 20Ul Arayda 1w u o 8. () A%2UUA ve12olotl Hoiuld ol 7,

B7.  Whoacts as chairman of Rajyasabha ?

{A) Vice President acts as chairman of Rajyasabha, (B) Prime Minister acts i's chairman of Rajyavabha.

(C) President acts as chairman of Rajyasabha. (D) Governer acts as chairman of Rajyasabha.

B8, w2dl slafl wa wBal Aq AU iUt Ul B,

(A1 A5 dWd (B & qud (C)AQ v (D) U2 que
88.  How many times Bill is read before it becomes a law ?

(A) One Time  (B) Twe Time (C) Three Time (D) Four Time
89 5¢ caul GUR ISt of Raitet Ao B -

(A)Rddertell Qe adl aagedl ue (B) Rau i Guaoll qae yz

(€) Gotell wattadl uUR Qausell e Gua (0) Mot Ulefl woyyeid) Gy

€9.  For which product ISI symbol is used ?
(A Agriculture Products (B) Household Products

(C) Woolen Products . (D) Silver-Gold Ornaments

W0 ldouuisl sl @ate Axedl [eate ol 2
(A) wWARs v (B) 0, dese (C) vt (D) wiletell Qe

imi TlR{ iv ow?
90.  Which is not criminal case trom given bel

(A) Physical Harm (B ineft, Robbery (€} Murder (D) Land case
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